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BIRZEIT UNIVERSITY

Fall 2022-2023 First Hour Exam
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Student Name: _Q PHeNe éfm Ta

Time: 90 minutes

Student No.: " __
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Hana’ Bashir 21618, 20 Rula Bakeer 14, 17, 19
Tareq Afaneh 4,68, 13 Nour Maraytah 6./ 15
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e path: y = x tan(8) — gx*/2v§cos?*(6)
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A boat trying to cross a river is able to move through still water at{2.5 m/s.\Water f|
from West to East atﬂ boat i g ; : er. OV\TS ’\\,‘
A SR € boat is headed 37 degrees west of north. If theriveris \u

120 meter wide, how long does it take the boat to cross the river?

20,12

‘(5)" " 50 seconds
25 seconds
60 seconds
(e) 20 seconds

LRk the disk is 1.0 m/s?, the radius of the disk is
A’;«} ,g | 3 (a) 10 Cm M‘\Ly Q‘Pf Y a,// 4 V aé ,./1 M{ 4
no L (€) - +30.cm
- (d 75cm
g () 50cm A
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position given by x(t) = 5622t where x is
w far is the particle from the origin
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m Object moving along the x-axis is givenbya = 2t + 1, where t
%2 ,mmﬁomrestwhatisﬂle speed of the obiec ' |

acting on the car during stopping? Yo =
b 1
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d - b, the angle between dand b is
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W ,bl with masses m=2 kg and M =3 kg are pushed along a horizontal frictionless
ace by a horizontal applied force F = 15 N as shown. The magnitude of the force

ting between the two blocks is
6 N
2N g 15F=3a
g (©) 4N
albi e (4 8N 15-F =3
e 12N 2
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v :: the equation x(t) = 2t + t3, where x is
cceleration of the car at t = 1.5 seconds i 2
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\g scale (Sm) O)w) in an elevator moving at constant

whatis the weight of the fish when the elevator is acgelerating upwards at 2.0
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90 m
45 m
80 m
20 m
60 m







